R AR

TEA HETSE

ITEIX RiEEmEE R T E

1 PSR 60.91m  18.431F
2BE R EfE 58.79m  17.781F
SRR mEE 0.00m 0.001F
IENRETE 119.70m  36.211F
R—F K 1.65m 0.501F
N —KEE 414m 1.254F
OJ+E#E 0.00m 0.001F
Wik 1T E A 0.00m 0.001F
T EiE 125.49m  37.961F
BERAKIE 11,885,032H
SNERRAEEKIE 245,700H
NEIE 584,000H
JO0T7a1—R¥ 2,542,946 H

HER 762,884H

EEES -269,454H
HRBELEFHA) 15,751,109
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JEFRETE 119.70m L 125.49m
NO IH# H e RT-E BE | B B &% B5E

1|{RE&EH 1 = 388,565
20EMTE 1 =R 896,160
I RT E(EERIK) 1 = 2,641,654
4| RTE(HNEBEE) 1 = 1,708,641
5|EHRIE 1 = 338,800
6|FRbE-tRETE 1 = 113,150
INEE2MILIE 1 = 168,810
SIIMAEBETE 1 = 908,092
I ABEETE 1 = 383,800
10|RNETE 1 = 255,150
11[BETE 1 = 15,000
R|ERFEISE 1 = 640,200
13[#AHEK-HR-BERKIE 1 = 676,500
14[F8-HHEREIE 1 = 1,243,600
15| TE 1 = 324,280
16|/ T4VJITE 1 = 1,182,630
17[/VET1 11,885,032
18|/ ER#EHEK TS 1 = 245,700
9|NETE 1 = 584,000
20[{/MEt2 12,714,732
2170721 —R% 200 % 2,542,946
22 HER 5] % 762,884
23|{E5|= 1 = -269,454

24

25
= 15,751,109




ITEH4A REETH
NO IH H i mE HE | B B o] B5E
1|5 8RR 5 PSR E 119.70 {m 800 95,760
2|1RiGAY 2 —b 260.00 |m 150 39,000
SREERAL 1.00 | 18,000 18,000
A\ FEEEBREML S 4tEE 2.00 [& 42,000 84,000
5|AEHR—FLL 1.00 | 24,000 24,000
6|XEER 119.70 (m 350 41,895
1FEELEE 119.70 | 300 35,910
8|k EZIKIE 1.00 | 50,000 50,000
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
= § 388,565
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TEHA AIE (HEEFEREK)
NO IH H i mE HE | B B £48 B5E
e JLhvhEBED 119.70 m 11,000 1,316,700
2|1 -EfE N \vxy 119.70 m 1,200 143,640
EEM 45%x30 45%45 60%*90 119.70 m 3,000 359,100
4|8T-ER KRR 119.70 m 1,000 119,700
5|1¥1E#M (1 BEK) BEAER28mm 33] 2,800 92,400
6|FTEM (2FEK) BEAEHR28mm 33] 2,800 92,400
1|FEEM (Frithik) BERSHR12mm 36]  # 1,200 43,200
8| FTEEH HXRXAR—F 1 54 2,500 2,500
O|FTEEM ARZ712mm 30] # 1,200 36,000 & £ FH
10| KT FfEH1 BAIE 12| AT 20,000 240,000
1| XTI FE2 N)LO——&ETE 1.25 1 10,000 12,524
12| ERERFLYA— 1 = 38,000 38,000
13| E44 (FR) 55.00) m 750 41,250|40mm RBAAT4+—L
14| B EAH (BF) FEIE BT EL 158.00 m 300 47,400| %5 A+ 75mm
15|prEnkt (248) K H i EL 58.000 m 980 56,840/ <% JL—32.100mm
16
17
18
19
20
21
22
23
24
25
= § 2,641,654




ITEH4 AIE (REELE)

NO IH# H e RTE HE | B B £48 B5E
1[FhEH JEEN 160 m 180 28,800
2\FnEEM = 120 m 800 96,000
3| FEEM P& EX 1 = 120,000 120,000
4| EEEFTY 1 = 20,000 20,000
5|¥EH % BiE 1 7N 9,100 9,100
6|FTEHM ZEMRK 2 7N 5,800 11,600
1| FEM FREKX 2l K 6,400 12,800
8| ¥ iEM PR T UR A 1 1& 6,000 6,000
O|FhiEM 20—y 33.00 pr—R 8,900 293,700

10| $riE 44 HER—K12.5mm 226 & 420 94,920
11 $riEH AEHR—K9.5mm 83| & 330 27,390
12| $r3E 4 Z K154 3] K 6,000 18,000
13| X ¥4 EEISE 36.21 1 25,000 905,231
14| FyFohH 53— 7A$HCG-121GB 1 ® 14,400 14,400
15| F v FohH 53— 7A$HCG-122GB 1 ® 19,200 19,200
16| EFTRINIEZ— FAHGT—1231K 1 ® 31,500 31,500
17
18
19
20
21
22
23
24
25

& = 1,708,641
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TEHS M- RETSE
NO 15 i mE HE | B B o] B5E
1[5F68 19 m 1,200 22,800
2|B2hE 21 m 1,450 30,450
3|kL> 4 # 1,900 7,600
A BEY 0 7N 480 0
5|BMEAEY 21 7N 780 16,380
6|TJLR 8| f& 420 3,360
TMEF 21 & 360 7,560
8| T & 1 = 25,000 25,000
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

= 113,150
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ITEH4A MaEETSE
NO IH H i mE HE | B B £48 B5E
1| Z=ZBRT 1 a8 95,700 95,700 745—F25M15%#!
21IBHZE GRIEASR) 2l & 133,596 267,192
|EE5LER 2l & 23,400 46,800
A )—nN—% 1 = 28,800 28,800
S5|1HR LR 2l & 31,800 63,600
6lHL— vy — LIXILZ D kO 1 = 112,000 112,000{ 7 JILE vy E—&
T FFIXERRRSA4 T 5 a8 13,300 66,500
8|HEIZEE 2 a8 28,800 57,600
9|FIXZE 2l & 17,500 35,000
10[AL—UHREIER 1 FaN 36,000 36,000
MEEE 1 =) 52,900 52,900
1284 -FERE 1 =% 46,000 46,000
13
14
15
16
17
18
19
20
21
22
23
24
25
= § 908,092




ITEH4A AREETSE
NO IH H i mE HE | B B o] B5E

1[HRFET W=1202 H=2043 1| vk 36,800 36,800|2MG
2|FEART W=768 H=2043 2| vk 22,800 45,600/ 1MG
|FEART W=768 H=2043 1| vk 18,800 18,800| E— L BZATIZE R
4|k({LE7T W=768 H=2043 2| vk 29,900 59,800| E—JLAATIZEE
5|FEIF W=1639 H=2043 R 28,200 28,200\ 75vrB4 7
6|0—t€ vrEE W=1632 H=2364 R 29,100 29,100\ 75vbB47
710—€vhE W=1234 H=2364 4| ybk 24,400 97,600\ 75vkB47
8|51ZELF W=1639 H=2038 R 38,100 38,100\ 75vkB47
9| P EX T UR SN BE W=730 H=1200 2| vk 12,500 25,000\ 75vhB47

10[K 7 R bwsi— L 4 A 1,050 4,200

"M|E&HEY 2l & 300 600|~rA L K7 H
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= § 383,800
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TEHS BEXREEIE
NO IH# H e RTE HE | B B o] B5E
1|2 ERE 1 = 98,000 98,000
2| BATECHR 32| 7P 2,200 70,400
3| RAYF 13| 7Afr 2,200 28,600
4|38 (458) RAYF 11| ~Fr 2,800 30,800
5|/ RRZILRAYF 8| B 3,000 24,000
6l2Aa Tk 26| 4P 2,200 57,200
1N7—ARfFEar w2k 3| 7B 2,800 8,400
8|fhKa Uk 2| PR 4,600 9,200
9|FLEImF 3| 7B 4,800 14,400
e T . 1| &R 9,600 9,600
1|—5—RHart ok 4| B 7,200 28,800
12[TVA 23—k 1 = 35,000 35,000
13| P4T B R 1 = 9,600 9,600
14[)EaFRER 2 =R 3,600 7,200
15[ 5 7E (24 KR BEm 1 a8 19,800 19,800
16[#57E (24 KR kL 2l & 18,600 37,200
17K K ERAN 2R 4 & 3,500 14,000
18|24 MR R—T 5| &R 7,000 35,000
19| LANEZ #R 4 &P 7,500 30,000
20(E ARk 8| PR 6,000 48,000
2|F 954k Bil5&
2|TLET7 TS A&
23|EBAR E Bl &
24| T 7O I E Bl&
25| B ERRE 1 = 25,000 25,000|FY—24
= § 640,200
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faHEK-HR B4

NO IH# H e RTE B o]
1[#8KITE 1| 7B 84,000
2018651 E 4| iR 48,000
JHRIE MIH o = 0
4| HEKERE 1F 1 = 20,000
5|HEKERE 2F 1 = 18,000
6|hAL U= 1 a8 90,500
7|k RN H 1 =) 58,800
8| {1t & 2l & 16,000
9|1k K12 3| PR 23,400

10 ZBEKEY 1| ~Fr 2,800
| EmEERE 1 = 15,000
122wk RIESEE 1 = 10,000
13| EBERY—T 1 = 10,000
14| EXURIKER 1 a8 280,000
15
16
17
18
19
20
21
22
23
24
25

= & 676,500




ITE/% F8 AHERELE

prd
®)

B _H - fn A By Hi{f ook &=

e
el

AT LXIFY INAX7=A 1 = 701,600 701,600

A=yk/NR INAXS/3 R 1] 366,000 366,000|E%E T E&AH

adtadla:

EEE INAXS X7 1 b 176,000 176,000 E# DA T HIFFZWIEIZT

O |IN [ O |D[WIN|—

©

—y
o

—y
—_

—_
N

—_
w

—_
EN

—_
o1

—_
D

—_
~

—y
oo

—_
[{=]

N
o

N
—_

N
N

N
wW

N
N

N
[$;]

op
il

A 1,243,600




TEHS HIE

NO IH# H e R HE | B B o]
11/N)La=—FhKITE JOLF— 4.14 m 12,000 49,680
21—V IE 1 =% 20,000 20,000
IMTLEY RS 18,900 18,900
4|170—E v R ER =900 2l ® 5,200 10,400
5|70—t v N ERHA L=1800 2l &, 7,400 14,800
6l/\H—1\(T L=1800 2l K 1,400 2,800
11 RYyrE£E 1 =R 15,000 15,000
8| HHi Rk 6] 2,000 12,000
NA—=-VIEELE(ESH) [2Bx2. Om 1| vk 148,700 148,700
10 T& 1 = 32,000 32,000
11

12

13

14

15

16
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= § 324,280




TEHS NEHYAT4VTIE
NO IH# H e RTE HE | B B £48 B5E
1ZEEYAT4VTHR—F KMEW EK3571FH 106]  #& 3,100 328,600
2| E1E H B ERH KMEW EKP3571FH 10| & 5,800 58,000
3|ERYAT14Y JLE—LwEF 51 m 3,500 178,500
4| ROYVEIRY {1+ JLE—LwEF 1 1& 55,300 55,300
6|A—/N\—/\TEW JOH7088 2l K 2,600 5,200
7| bR JOH7088B 1 & 1,260 1,260
8|S A 1 = 550 550
9|BfFIrEE 1 b 32,200 32,200
10(EFET 1 A 7,200 7,200
11| E&EBRKTY 9] XK 1,500 13,500
12[#ETAR 9] XK 420 3,780
13|/\whiaf+— 40| K 600 24,000
14T & (HAT1429) 178] m 1,500 267,000
15[>—U>y 339 m 460 155,940
16| FEE—b 3] & 4,500 13,500
17|BKkT—7 4 B 450 1,800
18[4#1E & 2| vk 650 1,300
18| ML &E 1 = 35,000 35,000
19
20
21
22
23
24
25
= § 1,182,630




TEHS SERFEHE KIS

NO IH# H R Toh HE | B B o] B5E
1[KEIE 20VP 5 m 1,700 8,500
2| EKEFE VIR 1 = 33,000 33,000
IVEKEEKIE 100VU 9 m 4,800 43,200
A5 K #t 3| 7Bt 13,200 39,600
5|MZKBEKTE 65VURIAE P 3| B 3,600 10,800
6/100VU 11 m 4,400 48,400
7|fKk#t 4| 7P 7,800 31,200
8|fAlEEE 1 = 6,000 6,000
o|BkiE 1| 7R 16,000 16,000
10[Z&FZEvE ABSH! 1 =R 9,000 9,000
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

= § 245,700
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